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import gmpy2
import math
def merge(al,nl,a2,n2):
d = math.gcd(n1,n2)
c = az2-al
if c%d!=0:
return ©
(c%n2+n2)%n2
c=c//d
nl = nl//d
n2 = n2//d
c *= gmpy2.invert(nl,n2)
Cc %= n2
c *= nl*d
c += al
global n3
global a3
n3 = nl*n2*d
a3 = (c%n3+n3)%n3
return 1
def exCRT(a,n):
al=a[@]
nl=n[0]
le= len(a)
for i in range(1,le):
a2 = a[i]
n2=n[i]
if not merge(al,nl,a2,n2):

C

return -1
al = a3
nl = n3
global mod
mod=n1l
return (al%nl+nl)%nl
def exCRT_getequation(a,n):

al=a[@]
nl=n[0]
le= len(a)
for i in range(1,le):
a2 = a[i]
n2=n[i]
if not merge(al,nl,a2,n2):
return -1
al = a3
nl = n3
return (al,nl)
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n = [20129615352491765499340112943188317180548761597861300847305827141510465619670536844634558246439230371
c = [19131432661217908470262338421299691998526157790583544156741981238822158563988520225986915234570037383
p_4=exCRT(c,n)

p=gmpy2.iroot(p_4,4)[0]

print(p)
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import gmpy2

# gcd(el,e2)=1
# TEAEBHr, sffifdrel + se2 = 1(VHEH)

eel = 42
ee2 = 3
cel = 4572265178634012394696081500305932252881048184137824728064286855360769214950912696287258303714246139

ce2 1390846833233356715846913643993232599234969688912910393540076023931945440953972538974705921383523837
tmp = 8640787780786098351677795659825407576840704506978543090051717428134149634474625549990127189609250816
= 15911581555796798614711625288508309704791837516232122410440958830726078821069050404012820896260071751

n

# assert(pow(el,eel,n)==cel)

# assert(pow(e2+tmp,ee2,n)==ce2)

# cl = m**el mod n

# c2 = m**e2 mod n

# (cl**r*c2**s) mod n = (m**(rel+se2)) mod n =m

#rel + se2 =1

for k in range(40000,45000):
if(gmpy2.iroot(k*n+ce2,3)[0]==int(gmpy2.iroot(k*n+ce2,3)[0])):

print(gmpy2.iroot(k*n+ce2,3)[@]-tmp)
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Search Sequences Report results Factor tables Status
[162785240342783640420643860624761135170679118916097693913550821 21084073951 73032406330519C | | Factorize!
Result:
status (?) digits number
FF 617 (show) 1627852403..03 517> = 1275873192..71 <3095 * 1275873192..93 309>
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Z...you.found.me.but.sorry.no.hint...keep.on.and.enjoy.it!
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import gmpy2
from Crypto.Util.number import *
ql= 12758731925343664356931214205855970681549721166108386659253421707931049726036530742609566128110371004
g2 = 11440118822747958468088404615129970465692053616876713291658918235758346105333638699612378329493256656
cl = 26273997575393028169094278432125233903590619684634071323751038236455768537954349876507444882579934219
c2 = 73955911292288766490308196166858218992048326849957577249244508129774707878222663871223347221327604709
e1=15218928658178
e2=381791429275130
p=109935857933867829728985398563235455481120300859311421762540858762721955038310117609456763338082237907005
n= [ ql, q2]
a=gmpy2.gcd(el, (p-1)*(ql-1))
b=gmpy2.gcd(e2, (p-1)*(q2-1))
#a, bAH [
c = [ gmpy2.powmod(cl,gmpy2.invert(el//a,(p-1)*(ql-1)),q1l), gmpy2.powmod(c2,gmpy2.invert(e2//b,(p-1)*(q2-1
M=n[@]*n[1]
m=[0]*2
t=[8]*2
X=0
for i in range(2):

m[i]=M//n[i]

t[i]=gmpy2.invert(m[i],n[i])#t[i]m[i]MMin[i]i7T

x+=(c[i]*t[i]*m[i])
X=X%M
print(x)
#x=35804832994323955736593177534355783276379853576467005892447953537635737153361392577632077357641800275836
e=7
d=gmpy2.invert(e, (ql-1)*(q2-1))
flag=gmpy2.iroot(gmpy2.powmod(x,d,q1*q2),2)[0]
print(long_to_bytes(flag))

AARKIZA A Ep, g1, g2, el, e2#ANE, fEflagik2rndifiid, Aid—Hel, e2Mphitflphi2 AT T A
AU R AR T, BRI B2 IR R A T

— R LIS BX PG GLAR 2 kel 5 H S ERPL R B i R ALEL, AEIX PN ECE R B, R AR
m**gcd (e, phi) [FIME.

XA ) R Ty a=b=14, I8 4 B Ja SR K T 4RGN 307, AN RIGEZA fi, AR
XA R W R — AT LIS R AR BB T K
PN 27 FE S AT DUR A [ e E BSR4, g 1SR RIS AT R /N RATTR A -



m14 =a1 mod p
m14 = a1 mod g1
m14 = a2 mod p
m 14 = a2 mod g2
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FLAG:delctf{9b10a98b-71bb-4bdf-a6ff-f319943de21f}
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